

Exam 3 Calc 1 10/28/2016

Each problem is worth 10 points. For full credit provide complete justification for your answers.

1. a) What is $(\sinh x)'$?

$$(\sinh x)' = \left(\frac{e^x - e^{-x}}{2} \right)' = \underline{\cosh x}$$

b) What is $(\cosh x)'$?

$$(\cosh x)' = \left(\frac{e^x + e^{-x}}{2} \right)' = \underline{\sinh x}$$
 Good

c) What is $(\tanh x)'$?

$$(\tanh x)' = \underline{\operatorname{sech}^2 x}$$

2. What is $\left(\frac{\ln x}{x} \right)'$?

$$= \frac{x \cdot (\ln x)' - \ln x (x)'}{x^2}$$

quotient rule
 rule of $(\ln x)' = \frac{1}{x}$

$$\left(\frac{\ln x}{x} \right)' = \frac{x \cdot \frac{1}{x} - \ln x \cdot 1}{x^2}$$

$$\left(\frac{\ln x}{x} \right)' = \frac{\frac{x}{x} - \ln x}{x^2}$$

$$\boxed{\left(\frac{\ln x}{x} \right)' = \frac{1 - \ln x}{x^2}}$$

Good!

3. Evaluate $\lim_{x \rightarrow 1} \frac{x^2 - 1}{x^2 - x}$. $\frac{(1)^2 - 1}{1^2 - 1} = \frac{0}{0}$ ← indeterminate form, use L'H

$$\lim_{x \rightarrow 1} \frac{x^2 - 1}{x^2 - x} \stackrel{\text{L'H}}{=} \lim_{x \rightarrow 1} \frac{2x}{2x - 1} = \frac{2(1)}{2(1) - 1} = \frac{2}{1} = \boxed{2}$$

Great!

4. What is $(x \tan^{-1} x)'$?

Product Rule!

$$\begin{aligned} & \frac{(x)'(\tan^{-1} x) + (x)(\tan^{-1} x)'}{=} \\ & 1(\tan^{-1} x) + x \cdot \frac{1}{1+x^2} = \end{aligned}$$

$$\underline{\tan^{-1} x + \frac{x}{1+x^2}}$$

Great

5. What is $(\sin^{-1}(x^2))'$?

$$(\sin^{-1}(x^2))' = \frac{1}{\sqrt{1-x^2}}$$

chain rule

$$\frac{1}{\sqrt{1-(x^2)^2}} \cdot 2x$$

$$\frac{2x}{\sqrt{1-x^4}}$$

Excellent!

6. A sample of tritium-3 decayed to 94.5% of its original amount after a year. How long would it take the sample to decay to 10% of its original amount?

Original amount = 100

$$94.5 = 100 \cdot e^{k(1)}$$

$$0.945 = e^k$$

$$\ln(0.945) = k$$

$$P(t) = 100 e^{\ln(0.945)t}$$

$$10 = 100 e^{\ln(0.945)t}$$

$$0.1 = e^{\ln(0.945)t}$$

$$\ln(0.1) = \ln(e^{\ln(0.945)t})$$

$$\frac{\ln(0.1)}{\ln(0.945)} = \frac{\ln(0.945)t}{\ln(0.945)}$$

$$40.7 = t$$

Excellent

40.7 years until the sample decays to 10% of its original amount

8. Why is $\frac{d}{dx}(\sinh^{-1} x) = \frac{1}{\sqrt{1+x^2}}$?

We know $\sinh(\sinh^{-1} x) = x$

differentiate $\cosh(\sinh^{-1} x) \cdot (\sinh^{-1} x)' = 1$

rearrange $\sinh^{-1} x = \frac{1}{\cosh(\sinh^{-1} x)}$

We know

$$\cosh^2 x - \sinh^2 x = 1$$

$$\sqrt{\cosh^2 x} = \sqrt{1 + \sinh^2 x}$$

$$\cosh x = \sqrt{1 + (\sinh x)^2}$$

so...

Well done

$$\sinh^{-1} x = \frac{1}{\sqrt{1 + \sinh(\sinh^{-1} x)^2}}$$

and we know $\sinh(\sinh^{-1} x) = x$ so

$$\sinh^{-1} x = \frac{1}{\sqrt{1+x^2}}$$

9. In 1696 the first calculus textbook was published, with an example finding the limit of

$$y = \frac{\sqrt{2a^3x - x^4} - a\sqrt[3]{ax}}{a - \sqrt[4]{ax^3}}$$

as x approaches a . Evaluate this limit.

As x approaches a the numerator is

$$\sqrt{2a^3 \cdot a - a^4} - a\sqrt[3]{a^2 \cdot a} = \sqrt{a^4} - a \cdot \sqrt[3]{a^3} = a^2 - a^2 = 0$$

and the denominator is

$$a - \sqrt[4]{a \cdot a^3} = a - \sqrt[4]{a^4} = a - a = 0$$

so it's a $\frac{0}{0}$ indeterminate form. Then by L'Hôpital's Rule, it's

$$\stackrel{L'H}{=} \lim_{x \rightarrow a} \frac{\frac{1}{2}(2a^3x - x^4)^{-1/2} \cdot (2a^3 - 4x^3) - a \cdot \frac{1}{3}(a^2x)^{-2/3} \cdot a^2}{-\frac{1}{4}(ax^3)^{-3/4} \cdot 3ax^2}$$

$$= \frac{\frac{1}{2}(a^4)^{-1/2} \cdot -2a^3 - \frac{a}{3} \cdot (a^3)^{-2/3} \cdot a^2}{-\frac{3}{4}(a^4)^{-3/4} \cdot a^3}$$

$$= \frac{-a - \frac{a^3}{3} \cdot \frac{1}{a^2}}{-\frac{3}{4} \cdot \frac{1}{a^3} \cdot a^3}$$

$$= \frac{-a - \frac{a}{3}}{-\frac{3}{4}}$$

$$= \frac{\frac{4a}{3} \cdot \frac{4}{3}}$$

$$= \frac{16a}{9}$$

10. We showed on the last exam why the Power Rule for derivatives works for all natural number exponents, like x^5 (by using the Product Rule). Show that it follows that the Power Rule for derivatives also works for roots like $\sqrt[5]{x}$.

For $\sqrt[5]{x}$:

$$\text{I know: } (\sqrt[5]{x})^5 = x$$

$$\text{Differentiate: } 5(\sqrt[5]{x})^4 \cdot (\sqrt[5]{x})' = 1$$

$$\begin{aligned} \text{Rearrange: } (\sqrt[5]{x})' &= \frac{1}{5(\sqrt[5]{x})^4} \\ &= \frac{1}{5} \cdot x^{-4/5} \end{aligned}$$

In general for $\sqrt[n]{x}$:

$$\text{I know: } (\sqrt[n]{x})^n = x$$

$$\text{Differentiate: } n(\sqrt[n]{x})^{n-1} (\sqrt[n]{x})' = 1$$

$$\begin{aligned} \text{Rearrange: } \sqrt[n]{x} &= \frac{1}{n(\sqrt[n]{x})^{n-1}} \\ &= \frac{1}{n} \cdot x^{-\frac{n-1}{n}} \\ &= \frac{1}{n} \cdot x^{\frac{1}{n}-1} \end{aligned}$$